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Third Semester MBA Degree Examif'n6on, Jan./Feb. 2021,

Gost ManageftGht

Time: 3 hrs. ::,r,,.-i::".,-''"'' ;klt4ax. Marks:100
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1 a. what is Cost Management? * =;; 
sriri'' #'! (03 Marks)

b. Brief on the tools of cost maffhgement. ,:i: (07 Marks)

'j q,q'!
Note: l. Answer any FOURftl,#rquestions from Q.No.T,tb Q.No.7.l. Answer any FOURJuI,L.\uestions from Q.No.

2. Question No. I is'Vqynpulsory. d*. r+

c. The following is the cost",-da,tatelated to X Ltd. for the ar ending 31 March 20).5 :cost",,da,tatelated to X Ltd. fo1lhe ar ending
r,rr,i:. :1,.i!; ,r{ In,fuPegS)

1rra* -'fu material consumed ''1,, 40000
'Direct wases ;!' 24000
Machine hours ,,**& 1000 hours
Machine hour rate 4 per hour
Office overhead "':":' 20%, of works cost
Selline overlr€ad' 0.80 per unit
Unit produdEt ''- 2"ffip0
Unit sold'ffi'Rs 6 each

showmg cletartecl cost ot eac$h€6tland prollt.
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Prepare a cost sheet showing <letailed cost of eaqHht?ie.and profit. ,.-,,.,., ,, (10 Marks)

2a.
b.

c.

What is Cost Apportionment? -." r. (03 Marks)

Highlight the reasons of under absorption 6f bverhead. 0,,,'. 
*' 

(07 Marks)

SK Ltd has two production departments P1 and Pz and two S'ervice departments 51 afld Sz.

Expensesare.aSl,ft'11owstPr-Rs4,{,75d, Pz-16,245"., Sr-20,000, Sz-8000.Expenses are.aSlffilows : Pr - Rs 47,75d, Pz - 16, 248,", Sr - 20,000, Sz - 8000.
The service department expenses !o,be apportioned as follows :

_ .:.1:

Apportion service

,;*oOi,O,
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a. What are Cost d$i#is?

v) MOS in
Year Sales Profit

I r20000 9000
il 140000 13000

II.

(10 Marks)

(03 Marks)
(07 Marks)

(10 Marks)

(03 Marks)
(07 Marks)b. Explain the objeetives of budgetary control.

::.-.:ni i
I of3

cost using s,ffi,g$aneous equation method.

c. Assuming the.cost structure and sellliirg price remain same in year I & II. Find out
:r:rqi ii) BEP sals$, ' iii) Profit when sales are Rs 100000D PAy' rad'iP',''"1:' ii) BEP s*l*

iv) Sales tbi,6arn profit of Rs 2{0U0



c.

18MBAFM3Os

Following are the detailed composition and weekly wage rates df labor for 30 weeks :

Standard ."'-11},,"f'" ACtUal

Category
of workers

No. of labors Weekly wage rate
oer labor hour

NoT'6;16ort Weekly wage rate
per labor hour

Skilled 75 60 70 70

Semi skilled 45 40 ,,.{fiui." 30 50

Unskilled 60 30 'i.rh 80 20

Ram Co Ltd., has 2 production depprtm€nts and

Sr, Sz respectively. Prepare Pri4aqi distribulion I

Calculate various labor variances.

Define Master Budget.

Total expe

. -...,,,: . (10 Marks)

,,' 
"""' 

..,, ,""'*,',,,,,,,:,ri,,i*r (03 MafkS)

2 service departments. Namely Pr, Pz and

(07 Marks)

li ir.

5a.
b.

trvety. ron su

Pafti€nl&d Pr Pz Si", Sz

Area occ.urbtf (sq. feet) 1000 800 '2S6 400

Asset Vhlt!d{O00') 200 100. 60 20

No;'ffif workers 80 m, 40 20

Lt tffiints 2q,''.
'..""t2

4 4

FIti.df machines 20 10 8 2

tirect waees (000) N l6 10 6

Direct material (000) ,tt.' 40 20 6 4

the oeriod are (Rs) li,,,s*'.,''

c.

6a.
b.

,::"" S*
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Explain the benefits and

What is Management Audit?

,d*d$ul*::

g.."i$l;is' :''

,#

iven below :

(10 Marks)

(03 Marks)

A Ltd., Manu facture$'and markets a s
r-- il

ii) r
Which

following
l9-by SYo. .,,;, '.:

s margin by 2.5=9SM

have been made.

a. What is Target costing?",*fu,
b. From the following cak|g*Iate 1) Material cost variance

iil) Material price vaiibnbe.

c- What is

c. Explaru*f-1,tfi requisites of a good report.

::: ,,rr+!, i|

,$r

is:
a "t"'

--ll"!*

would you rffieurmend?
variance? Explain the types of various overheads.:,

(07 Marks)
(10 Marks)

(03 Marks)
ir) Material usage variance

(07 Marks)

Rent 18000", Canteen expenses 5400

Power 1"?90{ Electricity 3600

Insurance -*5oo Indirect matqqlali 6000

Depreciation 'sEooo Indirect"w- b, 10400

Repairs 19000 Sundr1us::. "rtir" 520e.::'i;

nefits and''Iiltiftations of ABC sVstbm.
! ,-::::':::,

rce

Material r5td. quantity Std. Rate Actual quantitv Actual rate

x::ne'w l0 4 t2 3.75

tui..*' 15 5 18 4.5

25 30

2 of3
(10 Marks)
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